201E & 204t

tor

e

=M AR AID
M3 2E9H U0
chel: 22l =

el ZMEAIL ~ ZHE AL

&F A

d M A

el

[l
10

- EHRI(E) - NIRAY -

i
0z
Jo

L OH

-

2 (A
R
J2H

=2}
=)

o

M &= Al 32,625,412 22,118,822 10,506,590
= 3,765,000
& 9,020,000
= 291,047
= 1,401,690
= 18,147,675
= EQHEA0S 13,132,894 9,581,485 3,551,409
= 3,400,000
S 1,000,000
= 8,732,894
T 2te| A = 519,740 717,300 197,560
THEAE Z2F 368,840 465,140 296,300
201 LEt2d 5,040 5,040 0
01 AtE&c 5,040 5,040 0
o=2g=+ 5,040
—&4 70,0008 » 12 = 63 5,040
202 Oddl 10,800 8,100 2,700
01 =LHOYI 10,800 8,100 2,700
o= = 225,000& 4H 123 10,800
203 ¥R =&H| 3,000 2,000 1,000
03 AIM=&E 3,000 2,000 1,000
OZHEA 200,000& = 153 3,000
207 A 1OH2H| 300,000 450,000 A 150,000
01 251ESHI 300,000 450,000 A 150,000
Oz zelHe 28 (Hd)a8d 300,000,000& 300,000




SN BHEAD
Hy: 220N U0

ol 2B (==L

SN B EP(EH) - HIRAN -

0x
o

>
12

2 (A
R
J2H

401 AIEHIZ R0 50,000 0 50,000
01 A&l 50,000 0 50,000
O AAHEHHI M A (UPIS) S X2l 50,000,000& 50,000
THEAE EX 24 150,900 252,160 A 101,260
401 AlEHIZ 208 150,900 252,160 A 101,260
01 AlZHI 150,000 250,000 100,000
OFJI0IEAZHE AL 150,000
—EX04 bl 100,000, 000 100,000
— Al &4 50,000,000& 50,000
03 A2 2048l 900 2,160 A 1,260
OFJI0IEAZHEAIL 100,000,000& * 0.9% 900
SANAHEEZ SEF 5,056,080 5,805,200 AT49,120
S 300,000
= 4,756,080
HEECANECZ e L SZEA (XA 842,640 630,000 212,640
401 AlIEHIZ 208 842,640 630,000 212,640
01 AlZHI 800,000 630,000 170,000
OXelFAAHel nsSZ& ML (Or2EHl 3HA) 500,000,000& 500,000
OSHOIE~EA A2 S2IHA(L=117m) 300,000,000 300,000
03 A&=20HYI 42,640 0 42,640
O3 294,000& 1002 X 29,400
OZEEIN =2 10,000,000& 10,000
Oyl 450,000,000& *0.72% 3,240
dNEAMHEERZ 2 H 1,628,100 3,387,290 1,759,190




SN

Z M Al

M 29 HHU0IS
&SR TAHEER SEE (chel: &3
SN EHE - S(BH) - MM - BLS arol e RS2
401 Al&HI YL SO 1,628,100 3,387,290 A 1,759,190
01 Al&H| 1,620,000 3,387,290 A1,767,290
ODCOIE~Y 12 S 2 IH 4 (L=250m) 860,000,000& 860,000
ONMLus~2ZHE2 T2 44 (L=100m) 680,000,000& 680,000
SHEE =2 IHE(L=70m) 80,000, 000& 80,000
03 Al£=R0iHl 8,100 0 8,100
O=sgsg 294,000& «20E X 5,880
OZFEI =8 1,500,000& 1,500
O=0HEZE TS24 80,000,000& * 0.9% 720
SAUAZAHEETZ HE & SHELE 715,200 327,994 387,206
401 Al&HIZL=RHYI 715,200 327,994 387,206
01 Al&H| 700,000 311,190 388,810
OYUZAAEE2(A 3-188) W& 500,000,000& 500,000
OYUZAMAE=2(A 3-35) ML 200,000,000& 200,000
03 AIZ20i4l 15,200 16,804 A 1,604
Osgdsg8 294,000 «40& X 11,760
OZ&EEIN==2 2,000,000& 2,000
Oyl 200,000,000& * 0.72% 1,440
SHZANAHEEZ 8 & & - ZH 600,000 421,976 178,024
& 300,000
= 300,000
401 A EHIL 201 600,000 421,976 178,024
= 300,000
= 300,000
01 Al&HI 600,000 413,560 186,440




FABREAL
Mz ZEQHEUQI2

&SR TAHEER SEE (chel: &3
SN EHE - S(BH) - MM - BLS 04 &t o8 e RS2
O& & 172~z S 244 (L=533m) 300,000,000& 300,000
OEHEZAMHAEEZZ (L 2-295) M4 (L=300m) 300,000,000& 300,000
= 300,000
SFEEANAEERE SEF 807,380 712,482 94,898
401 A EHIL 201 807,380 712,482 94,898
01 Al&HI 800,000 700,000 100,000
O 35t240l~=2 L2t S 2IHA (L=1,048m) 800,000,000& 800,000
03 AIZ=20i4 7,380 12,482 A5,102
Osgdsg8 294,000& «20& X 5,880
OZ&EEINx==Z 1,500, 000& 1,500
DACAHEEZ OHEL ST E 462,760 325,458 137,302
401 Al&HI LR OHYI 462,760 325,458 137,302
01 Al&HI 450,000 311,190 138,810
OLNAZAMAE=Z2(A 3-13)MAE 220,000,000& 220,000
ORNATAMASEEZ (L 3-33)ME 120,000, 000& 120,000
ONATAMASE T2 (L 3H43)ME 110,000, 000& 110,000
03 AIZR0i4l 12,760 14,268 A 1,508
OFEg=sra 294,000 ~40& X 11,760
OZEEI} =2 1,000, 000& 1,000
ADJEXI 012t EHI 195,800 170,342 25,458
25 & 012 E4| 92,800 69,442 23,358
202 O4Hl 10,800 8,100 2,700
01 WY 10,800 8,100 2,700
OAIHXIEHIAZE =& oYl 225,000& x4H~ 123 10,800
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Hy: 220N EU0IS

s AIDEAIDI 2 EHI (chel: &3
- _ _ NUE &
SN H-SR(EH) - NRAMY - B 0] &k o G I RE2
203 ¥R =4&d| 2,000 2,000 0
03 AIMZ=XHRZ=EH| 2,000 2,000 0
OAIJX ZHIAIY =& 200,000& = 102l 2,000
401 Al&HI LS04I 80,000 59,342 20,658
01 AlZHI 80,000 52,730 27,270
OEAMAE RS 2= 60,000,000& 60,000
Og&n CIXRISHALS 20,000,000 20,000
SANHEEZ RXNES 103,000 100,900 2,100
401 A EHIL 204 103,000 100,900 2,100
01 Al£Hl 100,000 100,000 0
OZAMHEEZ EXNEA L A2 100,000
—0I=EXN 24 50,000,000& 50,000
— A& HI 50,000,000& 50,000
03 A2 204l 3,000 900 2,100
OEAAHEEZ EXNEY E SX2 3,000,000& 3,000
A2EESEAMY 7,300,000 2,828,144 4,471,856
= 3,400,000
S 700,000
= 3,200,000
FEACSEHAMY 4,100,000 2,828,144 1,271,856
& 2,000,000
= 500,000
= 1,600,000
401 Al&HI YL =R OHYI 4,100,000 2,828,144 1,271,856
= 2,000,000
= 500,000




SN BHEAD
Hy: 220U

ool ATSSHALY (Etel: & e
_ _ _ HEc -
SH - EB - S(BH) - MBAY - BES 0l & 24 Sl BB

= 1,600,000

01 A& 4,100,000 2,800,000 1,300,000
OX WIS (SE~Z ) IH 2 (L=950m) 3,000,000,0008! 3,000,000
z 1,200,000
= 500,000
= 1,300,000
OTHNAIZ B4 3H (AW DL & 31) I 8 ZHI B AL 300,000, 0002 300,000
OG0 ss 22 E 800,000,000 800,000
2 800,000

SR AESS LAY 3,200,000 0 3,200,000
= 1,400,000
= 200,000
= 1,600,000

401 AlEHIL RO 3,200,000 0 3,200,000
= 1,400,000
= 200,000
= 1,600,000

01 A& 3, 174,600 0 3, 174,600
OFSAE 243 AIY 100,000, 0002 100,000
= 70,000
= 30,000
OSHAZEZ A 3,074,600,0008! 3,074,600
= 1,330,000
< 200,000
= 1,544,600

03 Al& =0 25,400 0 25,400
O=g+42 294,000% * 40Z X 11,760
OZBEI44E 5,000,000% 5,000
O= 0l 3,200,000,000 * 0.27% 8,640
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el 20= FEol (el &)
SN EHE - S(BH) - MM - BLS 04 &t o8 e RS2

Z10= FHl 61,274 60,499 775

=2Z10= EHl 61,274 60,499 775

101 el 4] 8,780 8,299 481

04 JIZHMIZ2XEE =+ 8,780 8,299 481
O=gZ1= Fd| 8,780
— Q2| 34,9108 ~ 18 » 200 6,982
—RE5d+E 34,9108 * 18 » 28¢ 978
—4E2E= 7,960,000& = 0.103 820

201 LBt 3| 2,220 3,000 AT780

01 AtS 22l 2,220 3,000 AT780
Oosd+g 420
—ZSQZNERAJE FAI = 70,000& *» 3" 23| 420
Oogx= 1,800
—=8HZANSHY 3del Xt 300,000& = 3 = 23l 1,800

401 Al&HI YL =R OHYI 50,274 49,200 1,074

01 Al&H| 50,274 49,200 1,074
O+ XNEAA £X 40,200
—2EAAN wH(AA) 8,400,000 » 4042 33,600
—XEAALL OlH 3,300,000 * 2002 6,600
OZNSRE ¢XE &1 69,0003 * 14601 & 10,074

AAIBAIE &5 11,807,500 2,375,000 9,432,500
= 3,765,000
= 5,000,000
i 3,042,500

AHD|BIAIE K& 3,042,500 460,000 2,582,500




A M Al

=L RN BIONPERETE
el ARIDIBAIE X2 (el @e
SA-EHH .S (BH) - HBAY - B2 Ol AF o4 &%Ei HRS2
PRI K& 1,936,200 30,000 1,906,200
201 Et24d| 8,500 8,500 0
01 AF=22eltl 8,500 8,500 0
Oget=2H| 8,500
-2 SAJNERX EES M (TE) 500,000& = 84 4,000
— NG 1,000& * 2,0000H 2,000
—Z2d3t= 50,000& = 103 500
—J|IgRIN=EE A HE 2,000& * 1,000% 2,000
202 (4| 16,200 13,500 2,700
01 2| 16,200 13,500 2,700
OJIgRX & XNEFH 245 =X 225,000& x6H =12 16,200
203 R F=&H| 6,500 3,000 3,500
03 ABFAHRF=ZAH| 6,500 3,000 3,500
OJIEENSINERFA 250,000& = 103 2,500
O N3N &85 200,000& = 203/ 4,000
303 EAZ 5,000 5,000 0
01 Za2 5,000 5,000 0
OEXNRX CHMEIE HMZ 5,000
— 2323 2 EXIIEMH & 500,000& = 10H¥ 5,000
402 QI2tXH=01M 1,900,000 0 1,900,000
01 It =x 1,900,000 0 1,900,000
Ooz2zX FAHXEH 700,000, 000& 700,000
OUR2 EXDY EHXI3S 1,200,000,000& 1,200,000
QA D BHAIE &S 1,106,300 430,000 676,300




A M Al

B MI|UAlE 2B
SRl AEIIAIE X (chel: &3
SN EHE - S(BH) - MM - BLS 04 &t o8 e RS2
401 Al&HI YL SO 1,106,300 430,000 676,300
01 Al&H| 1,100,000 429,000 671,000
OdlFI S (Leratet S EX,NESE) JIEAIE K& 100,000, 000& 100,000
Odtelgprargd et M2 JHA (L=200m, B=15m) 1,000,000, 000& 1,000,000
03 AlZ=R04Hl 6,300 1,000 5,300
Oote| LetatH e Xl MAE=2 A 1,000,000,000& = 0.63% 6,300
2B N AET o 8,765,000 1,915,000 6,850,000
= 3,765,000
7 = 5,000,000
SHH=TXEANLEES 3,633,000 1,465,000 2,168,000
= 3,633,000
403 X SHMSAH201H 3,633,000 1,465,000 2,168,000
= 3,633,000
02 SII2SOCHStCHE AL I 3,633,000 1,465,000 2,168,000
OUSLBHAATH-=SLHeIAlE &X 3,633,000,000& 3,633,000
= 3,633,000
CHE LEHAMEHRI B E E+ ALY 5,000,000 450,000 4,550,000
= 5,000,000
401 Al&HIL 204 5,000,000 450,000 4,550,000
= 5,000,000
01 Al&H| 4,686,500 446,760 4,239,740
OUHE LA E+=32AE £X 4,686,500,000& * 104 4,686,500
& 4,686,500
02 Zeldl 300,000 0 300,000
OUHE LA E=32AE ASZa 300,000,000& * 1A 300,000
= 300,000




SN

Z M Al

ZE: AHADIBHAIE &S
chls 2B NP x4 &t
SA - E . Er9 (3] H) HaS Akl e =
03 Al SR0iY| 13,500
OUgLetadell 232 AE & 5,000,000,000& = 0.27% 13,500
= 13,500
XA E= 132,000
= 132,000
403 AtXIEHHSK=01H 132,000
= 132,000
02 S| 2SOCHStCHE AL 132,000
OUHE LA H=BLHelAlE X1 K& 132,000,000& * 1JH24 132,000
= 132,000
AHatey ds ,358,310
& 620,000
& 51,000
= 687,310
sS2J1Y KA 302,000
= 140,000
& 51,000
= 111,000
S0 s4X3 60,000
307 212t01& 50,000
04 DIFHAIE X 50,000
O22X &0t M=zl 50,000, 000& *12] 50,000
402 2t X201 A 10,000
01 BIAXNGEEXR 10,000
O&AlE &It 24 X 1,000,000& * 1074 & Al 10,000
NLSEENEZZNAA 200,000
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@ A0 N& (el &
- _ — NUE &
SN EB . SR(BH) - MRAY - BES 0l &k 24 G DB

& 140,000
& 30,000
= 30,000

307 212t01& 200,000 86,400 113,600
& 140,000
& 30,000
i 30,000

02 Bl2tAAE X 200,000 86,400 113,600
OXNYsd EXNEXFT K& 200,000,000& 200,000
= 140,000
L= 30,000
i 30,000

FIIFEES A70E EExg KN3AAMY 42,000 0 42,000
& 21,000
= 21,000

307 212t01& 42,000 0 42,000
< 21,000
= 21,000

02 2ItAANSE X 42,000 0 42,000
OoFgIIgs Az ed8xg K& 500,000& = 14F » 600 42,000
L= 21,000
= 21,000

HSAE SEIMEAMY 1,056,310 686,064 370,246
= 480,000
= 576,310

HEANE 43H(EX) 800,000 362,592 437,408
= 480,000
= 320,000
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SN EHE - S(BH) - MM - BLS sl e RS2

401 Al&HI YL SO 800,000 362,592 437,408
= 480,000
i 320,000

01 Al&HI 800,000 360,000 440,000
OgXAE EHIA 800,000,000& 800,000
= 480,000
= 320,000

SUEtAIE AIE &l 22 23,310 23,310 0

201 Let2EH| 13,310 13,310 0

01 AtE22lHl 8,260 8,260 0
Ogtt=2H| 8,260
—dEESAE HI|I0HH 120,000& * 40 = 128 5,760
—SAAIE AYHHEH 1,000,000& = 12l 1,000
—NEMSANEY otEA Z 300,000& = 504 » 13l 1,500

02 Z==234l 5,050 5,050 0
OZ232= ¥ HAl 50
—gXNAY Zat2te| Xt 50,000& * 13l 50
OA&EZHIS X 5,000
—SUSAIE A& &YX 8I( 1,000,000& * 50 & 5,000

401 Al&HI YL SO 10,000 10,000 0

01 Al&H| 10,000 10,000 0
O USAE Al =4t 2,000,000& = 5JH 10,000

HSANE 243H(AHA) 233,000 300, 162 A67,162

201 Let2IH| 10,000 0 10,000

03 A2 EHI 10,000 0 10,000
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B qoiael A
B ASAE SEHEAE (chel: &3
= _ — NUE &
SH - EB - S(BH) - MBAY - BES 0] &k o G fmE=£1
OHSAE 2308 E 2,000,000 » 5H A 10,000
301 YptEasg 3,000 0 3,000
10 ALAHIE &= 3,000 0 3,000
OESAE SHOIHEHAL AHIE4 10,000& = 100¥ * 32/ 3,000
401 Al&HI LR OHYI 220,000 300, 162 A80,162
01 Al&HI 220,000 300,000 A 80,000
O LA EEIE 22AIE EXIALY 20,000,000 20,000
OO0ZEAE =XHE EXIAS 200,000,000& 200,000
NESEH 43t 1,434,674 2,149,166 AT14,492
= 110,400
i 1,324,274
ANSEH -3t 534,674 349,166 185,508
& 110,400
= 424,274
FAad MU= 1,200 1,600 A400
= 600
= 600
201 =& 1,200 1,600 A400
= 600
= 600
01 AtR22ltl 1,200 1,600 2400
Osg+y 1,200
—2A=EY 300,000& = 2% * 23| 1,200
= 600
= 600
SHS Y K& 2,400 2,600 A 200
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- _ _ NUE &
SN H-SR(EH) - NRAMY - B 0] &k o G I RE2

& 400
= 2,000

307 QI2+0IA 2,400 2,600 A 200
< 400
i 2,000

02 BItAAE X 2,400 2,600 A 200
O303 Heg N& 2,400,000& = 1OHS X 2,400
& 400
= 2,000

HAZ2AHIN JtA EIIAIE DALY 23,000 23,000 0
= 6,900
= 16,100

201 LEH2HH| 12,000 12,000 0
< 3,600
i 8,400

01 AtE22/H] 12,000 12,000 0
Ogt==H| 12,000
—HAZMUEIIAIE A ALS 120,000& = 100All CH 12,000
& 3,600
i 8,400

401 A EHIL 201 11,000 11,000 0
= 3,300
= 7,700

01 Al&HI 11,000 11,000 0
OHAZ M JtAAIE WX 220,000& = 50AICH 11,000
< 3,300
= 7,700

JelE 108ts E=AY 205,000 282,000 AT77,000

_14_




SN

Z M Al

g N9FHM g4dst
el NSEHM 243 EHelE )
CERI(B) - HIRAY - B S & oy e =2
= 102,500
= 102,500
402 QIR0 205,000 282,000 ATT,000
L= 102,500
i 102,500
01 222 EX 205,000 282,000 AT77,000
OHLZ=E BgAS 2,000,000& * 50Al CH 100,000
= 50,000
= 50,000
OHLZ = B A 3,500,000& = 30AlCH 105,000
& 52,500
= 52,500
NS ZMEA s 303,074 39,966 263,108
101 el 5,621 6,798 AN Va
04 JIZtHIZ2E2EE S 5,621 6,798 AN Ve
O2EZAM BLHREA 34,910& * 298 * 73¢ 5,097
O2ALF0IsANE &3 FHI 34,9108 * 3 524
201 et 11,253 15,768 A4,515
01 AtE22(Hl 11,253 15,768 24,515
Oget=&H| 5,883
—AANDFOIEANE 24 930
Scizte HE 2 50,000& * 504 250
XY 400
2013t & A 240 100,000& * 29 * 13 200
201t & A SHEA 1,0002 * 4000 » 2044 80
—alg HAl &3 A =2 1,000
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CBHE Al

NS BH 243t
CASEEH gdst e RS
SNBSS - NEAY - B &hoy e ==
—HRs SEIAM 2,253
ANZH I 2L 1,000 » 6494 » 45 = 23] 512
AE(RIER . ER) U2 1,700& * 28 » 644 » 48 » 23] 1,741
—uXNEt E2= MH 1,700
E2= 5008 * 2 * 1,0000H 1,000
Sdidt= 50,0003 * 14942 700
o=2g=+¢g 1,120
—S)IHARAE S B4=E 70,0002 * 8H * 23 1,120
o=l 2,250
—gALF0IsAIE 28 24 7Y 15,0002 * 15004 2,250
O=etl 1,000
—HALDFOIsAIE 2810 SAMHS 5,000& * 20 =+ 102 1,000
ogxtz 1,000
—SADF0sAE S3FHI(3A1) 500,000& * 1CH = 2 1,000
202 044 16,200 16,200 0
01 =LHOHI 16,200 16,200 0
ONsZHEda gR=d 225,0008 = 6% * 128 16,200
401 AIEHIZ R0 120,000 0 120,000
01 Al&HI 120,000 0 120,000
OLEDEZE 25 ALY 400,000& * 300S 120,000
402 2IZ2tt=01d 150,000 0 150,000
01 2ItpEE X 150,000 0 150,000
OHEE 2D E5AY 2,000,000& * 757t 150,000
AR X2 SAY 900,000 1,800,000 900,000
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CASEEH 243
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ok

Z M Al

P
ATHAUUHX NSES A

ol-
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P
o

- EHRI(E) - NIRAY -

i
0z
Jo

(0]
(L]

H

2 (A
R
J2H

L

o

S3ot=XMeld Bed 2d4H £X 600,000 1,800,000 A 1,200,000
401 AlIEHIZ R0 600,000 0 600,000
01 Al£Hl 600,000 0 600,000

O33ot+Held 2L LH XA (20 ) 600,000,000& 600,000
A0S BHSZFEHAE £X 300,000 0 300,000
402 2I2bXH=01M 300,000 0 300,000
01 2t x 300,000 0 300,000
OFANOISEHAZLHAIE EXAS 300,000,000 300,000

Hsws X 4,705,134 3,939,307 765,827
= 291,047
< 240,290
= 4,173,797

ns&AN &g 215,742 149,261 66,481
S 20,000
= 195,742

wESEAN A & =E 215,742 149,261 66,481
S 20,000
s 195,742

101 1A H] 27,070 25,589 1,481

04 JIZHMIZ2XHsSE = 27,070 25,589 1,481
OUSEMAC2E 27,070
—Jl=s 34,9108 » 2& » 290 20,248
—FL22xE 34,9108 « 2% + 1.5 » 41 4,294
—4HEEE 24,542,000& = 0.103 2,528

201 LEH2HH| 74,472 74,472 0
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Z M Al

sws X
wWSEAN =
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SA - B . el (3) Hys & oy e =2
—HEDNN S22 RESIIE 1,750% » 6002 * 43| 4,200
—SJ|RH tt&sx 1,500& *600H =122 1,080
—NSIEIIB A HHEAM 2203 » 1,30000 * 123 3,432
OAl & EHIs Xl 16,200
— XS AAAE KX 1,000,000& 1,000
—20oIcEItM 2l | XIE4=H1(S/W) 190,000,000& * 8% 15,200
202 O4Hl 13,500 13,500 0
01 =W 13,500 13,500 0
QuUSAMNEE B8 ¥ WSEAN =8 225,000& * 59 « 12& 13,500
203 HRF&HI 1,000 1,000 0
03 AZFIHRFAH| 1,000 1,000 0
OusZAMeg 2tg3l 200,000& * 53| 1,000
207 AN 40,000 15,000 25,000
01 A& 40,000 15,000 25,000
OHM2x NEHSnsSAHE =8 40,000,000 * 14! 40,000
301 YptEasg 15,700 15,700 0
07 B12+oI=2| (¢ H| 15,000 15,000 0
O2=3SMA S8 WSA &2 ool 1,500,000& * 10 * 13 15,000
10 HALAHIZ &3 700 700 0
O2=3AMA 2t ISFAT AH24 7,000& = 30% * 23 420
OuszAMeg AL Adl24 7,000& * 2098 * 23| 280
303 &z 4,000 4,000 0
01 Z&3 4,000 4,000 0
ONEMASHMNEE =+ 23H Al 1,000
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SN
X XH .
S Tt

ok

Z M Al
sns X
wWSEAN EE

SN - HE - SI(E) - NRAY - BAS & oy e =2
-z = 300,000& * 1HSH 300
- 200,000& * 2™ 400
—&d 100,000& * 3M=SH 300
ONEMASHMNEHE =+ Z&3 60,000,000& * 5% 3,000
405 KHAHFESHI 40,000
= 20,000
= 20,000
01 TN ESSHSHI 40,000
OHJI0IEX =L 40,000
—dIIAFTH 3,500,000& = 8CH 28,000
= 14,000
= 14,000
— MO XS A 1,500,000& = 8CH 12,000
= 6,000
= 6,000
A 2 stE2AMY XN 3,058,527
= 291,047
= 140,290
= 2,627,190
HXsd IESE TA 2RY 8,484
= 5,972
= 2,512
101 el 8,484
= 5,972
= 2,512
04 JI2tHIZ2E2NEE S 8,484
OHIA-H(sHEHA) DS ZAME 8,484
—Ed 34,9103 27 H x32 23| 5,656
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A M Al
g Hsus N
e oA SFE2AE N (

i
40
o
{0

SN - H - SRA(EH) - MRAY - Hl

e
0%
o
=
x
2

2 (A

R

J2H
0l
N

3,981
1,675
—-5¢ 34,910%27 B 12 x1.5+23] 2,828
1,991

837

Mok

EUNCH

28 |It2x3a N 1,500,000 1,500,000 0

307 21z2told 1,500,000 1,500,000 0

HEXS 1,500,000 1,500,000 0
HitEL=s NE 1,500,000,000& 1,500,000

HAlcd za2as X 414,087 358,453 55,634
38,069
109,318
266,700

M) H1 AL

402 BI2H 201 414,087 358,453 55,634

38,069
109,318
266,700

M H1 AD

01 212t 2x 414,087 358,453 55,634
& E=AEAZ X (23Med) 414,087,000& 414,087

38,069
109,318
266, 700

M H1 AL

HASAH HEX 415,956 405,956 10,000

202,978
212,978

BTN

402 BI2HHE01& 415,956 405,956 10,000

202,978
212,978
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A M Al
g Hsus N

Sl Ol o SI22AAMY XS (sl &2
- _ — NUE &
SH - EB - S(BH) - MBAY - BES 0l & 24 i BB
01 QIAT=BE 415,956 405,956 10,000
OHAH HEXH 405,956,002 * 17423 A 405,956
= 202,978
2 202,978
ONSIBAEDIE FHI(3H2) 10,000, 0002 10,000
SOEHA H4ALM BH 70,000 70,000 0
402 PI2ERHEZOIH 70,000 70,000 0
IEI e 70,000 70,000 0
OS0EHA 4 s B3 70,000,008 * 10H X 70,000
S0E IYHA 7Y 500,000 300,000 200,000
= 50,000
= 25,000
2 425,000
402 PI2EXHEZ 0| H 500,000 300,000 200,000
= 50,000
= 25,000
= 425,000
IR 500,000 300,000 200,000
Os0&E TYHA 7Y 100,000,0002! * 5CH 500,000
= 50,000
= 25,000
2 425,000
AR 2XB A X 150,000 0 150,000
402 PI2ERHEZOIH 150,000 0 150,000
01 PIAT=BE 150,000 0 150,000
OSIAIYH XA X2 30,000,000 * 5CH 150,000
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SN
 HERE X2

ok

X ZH
o=

Z M Al

DENFALES 5 L F

i
0
F]
o

= LGB - RN - BaS o e 2
NSHUANLEE &5 & & 1,430,865 1,152,073 278,792
= 80,000
= 1,350,865
wWSoHM - HOAIE £ 732,865 852,073 119,208
101 Q1] 5,865 5,544 321
04 JIZHZ2 XS 5,865 5,544 321
OHAs24U0I Al (22600 &) 34,9108 » 148 « 12¢ 5,865
401 AlZHI X2 HHI 727,000 846,529 A 119,529
01 AlZHl 727,000 846,529 A119,529
OuSotEAIg= €1 & 576,000
— A A 150,000,000& 150,000
—2H2E e 80,000,000 80,000
—usS&zI| &X 55,000,000 55,000
— WSS MO0 21,000,000 & 21,000
—wsSASI| EF 43,000,000 43,000
—LED B2 &% 36,000,000 36,000
—8H2: &4 26,000,000 26,000
—uSHHHEX 150,000,000& 150,000
—EH& ALOI2] & & 15,000,000 15,000
OHASAHUIIA &4 8,000,000& * 5JH A 40,000
OfAsHUIIA RAE+x 10,000,000 10,000
OUSHEAIZ=E 2 Al €8I 51,000,000 51,000
OUSAHEANEE RXNE+ 50,000,000 50,000
SEFIYE &% 698,000 300,000 398,000
s 80,000
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ok

Z M Al
=ns XN

WSHIHAL=E EE & bl

= =

-

o

0
r
10

- EHRI(E) - NIRAY -

i
0z
Jo

2 (A
R
J2H

Ol

==

2 2
= 618,000
401 AlEHIL 20| 698,000 300,000 398,000
< 80,000
= 618,000
01 A&y 698,000 300,000 398,000
oxgs =& 50,000,000} 50,000
oxgs 4y 160,000,000 160,000
< 80,000
= 80,000
ORYES SHNSTSELNE X4 50,000,000} 50,000
OYMBEAT FH HASNE &1 238,000,000 238,000
OR=Z8 N2 NISTSEXNE 2NN 200,000,000 200,000
BHSHAH (FMEAID) 46,900 46,900 0
I 2 (ZHEAID) 46,900 46,900 0
I 2 (ZHSAIDH 46,900 46,900 0
201 Ler2y| 26,500 26,500 0
01 At=Ratelt 26,500 26,500 0
Ogersg| 10,000,000 10,000
ozl 55,0002 * 25% * 128 16,500
202 01| 15,000 15,000 0
01 2UHoiH| 15,000 15,000 0
OJl=g s 50,0008 * 252 * 122 15,000
203 HREXY| 4,200 4,200 0
04 BNRYYRE 4,200 4,200 0
ORAegee 350,0002! * 12 4,200
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A M Al
A HY2ALHI(ZH Al

el Jl2gH (ZH S Al (el &)
SN EHE - S(BH) - MM - BLS 04 &t o8 e RS2

204 A=A 1,200 1,200 0

01 MM HRHFH| 1,200 1,200 0
OXMGHP A 100,000& = 12& 1,200

HREs (M AL 140,000 3,173,000 23,033,000

UWEHHXES(ZHEZAIR) 140,000 3,173,000 A3,033,000

WEHHXS(Z M AID) 140,000 3,173,000 23,033,000

404 SIS NE2HES 100,000 100,000 0

01 SIS SLESAHNBHEZ 100,000 100,000 0
O0l&IIY a=& K& 100,000, 000& 100,000

701 JIEtRI AN ES 40,000 3,073,000 23,033,000

01 JIEtI HEE= 40,000 3,073,000 /3,033,000
SSNAZEMLEEH HES 40,000, 000& 40,000
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